1. o= 0% 09 d& FoH L.

7:9=(7x2):(9xQ@)=14:©

iy

>
=1

.20

7:9=(Tx2):(9%2)=14:18
@=2,0=18->0+O=20




WHo] Refo] thewt 2 Eol7t 1dem A 97159 A

U
Q
B

[ V)

>
[> HEeH: 439.6 cm?

9l

15
EBO

]

i

(dH 9] Yo])=5x2x 3.14 x 14 = 439.6(cm?)




Hlo] A& o] gste] 1o glo] 2 i ol AYUAY

4.7

D 9:15 @)12: 21 @ 7:4
11

@ 14 :17 ©Z'?

B

ule] At 2o 00] ofd L 48 FaAY
Lprol ulo] g 24tk olel 74 ol
e % gzt
4:7=(4x3):(7Tx3)=12:21




4. ol Bof 9k v BA F 5% 7t vtPL ] BAL F
2} up 7 o B0 v S Fha 2kt Apel4o] ]2 LehAlL,

>

> =ehl 19:1

FHe] FAl= AA19] 100 - 5 = 95( %) .
95:5=(95+5): (5+5)=19:1




